N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
X F X F X
8 of & of 8
20°F S10°F s
F [ E Q
i s f g
r = S
10°F 1 £
E & E =
F . o kel
1% 3
0% i 3
P i 102
10f--:- 3
] 5 k-
1
Rl Sy .
I : DOM_| man baselmesner IowPT
24 . T T v ] g 2
osf--r1-4-- l l“ .'" 09—--:— -4 --F-H- o.8F - ' HEE T
. . osf--+{-4--}- Ml X
s B : B N UG SRR R & 1 B 0 e Ak i oo oo
-25-20-15-10 -5 0 5 10 15 20 25 O'—'ZS—ZU— 5-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 L i T ISR LR 2
[*] Q [=] [5)
g g g 8
5 = £
g 20° %
= S S10?
=
10° 3
10?
10? 10
10
o £13 3 ] oL
3 3 3 P
x HHHH | : x : ]
°¥3p 20 -10 0 10 20 30 °%p 20 -10 0 10 20 30 ¥ 20 - 10 20 30 °¥Pp 20 -0 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


